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Name: 

1

C
op

yr
ig

ht
 ©

 L
ad

yb
ir

d 
B

oo
ks

 L
td

, 2
01

9

Complete the sentences with the correct form of  the verb in brackets.
1	 Sherlock Holmes and Doctor Watson  (be) at home.
2	 A man  (be) coming, Watson. He  (be) a doctor.
3	 And he  (live) in Devon.
4	 How  (did) Holmes  (know) this?
5	 Hello. I’  (be) Doctor Mortimer. I’  (be) from Devon.
6	 How can we  (help) you?
7	 (did)  you  (know) the story of  the hound of  the Baskervilles?
8	 There is a hound . . . it  (live) on the moor.

Tick  the four true sentences.
1	 The hound kills Sir Charles Baskerville.	
2	 Doctor Mortimer is angry.	
3	 Sir Henry Baskerville is staying at Baskerville Hall.	
4	 Sir Henry Baskerville has no children.	
5	 The hound kills the women in the Baskerville family.	
6	 The hound lives on the moor near Baskerville Hall.	

Complete the sentences. Choose the correct words. There are two extra words.

            brothers            friend            Hall            house            servants            sister            wife            

Two 1  live in Baskerville 2  – Mr Barrymore and his 
3 , Mrs Barrymore. 
There is Mr Stapleton and his 4 , Beryl. They live near. 
And there is Sir Charles’s 5 , Laura Lyons. 
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Read the questions. Write one-word answers.
1	 Where does Doctor Watson go?
	 To Baskerville .
2	 How does he go there?
	 He takes the .
3	 Who does he go with?
	 He goes with .
4	 What does he see from the window?
	 He sees the  and Baskerville Hall.
5	 What does he do there every day?
	 He  to Holmes.

Correct the sentences. The bold words are incorrect.
1	 There is a criminal in Baskerville Hall.

	

2	 Police are not looking for him.

	

3	 It is day now. There is a man on the moor.

	

4	 The criminal is Mr Barrymore’s brother.

	

5	 Mr Barrymore is giving him a bed and clothes.

	

6	 They are Sir Henry’s new clothes.
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Put a tick  or a cross  in the box.

1	 This is Sherlock Holmes.	

2		  These are Mr Stapleton 

		  and Beryl Stapleton.	

3	 This is Sir Henry Baskerville.	

4	 This is Laura Lyons.	

5		  These are Mr and 
		  Mrs Barrymore.	

Write the correct names on the lines.

         Laura Lyons        Sir Henry        Watson        Holmes        Mr Stapleton        Mr Barrymore         

1	  is in the garden. Why?
2	 ‘Look at this note. It is from  to Sir Charles.’
3	 That evening,  sees a man on the moor.
4	  is from the Baskerville family.
5	 He can have their money if   is dead.
6	 , look! A dead man!
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Choose the correct verbs.
1	 I can help / to help you.
2	 Now, please listening / listen.
3 	Run / Running, Watson.
4	 But Mr Stapleton running / runs into a bog.
5	 He wants / is wanting the family’s money.
6	 Laura Lyons can helping / help me!
7	 I love / I’m loving YOU!
8	 Let’s to go / go home, Watson.

Match the questions with the answers. Draw a line between them.
1	 Do you know the story of  the hound of  the Baskervilles? 	 a	 I am watching people. 
2	 Can you come? 	 b	 Yes. Thank you!
3	 Who lives in, or near, Baskerville Hall? 	 c	 No. Please tell me. 
4	 Is that the moor?	 d	 Two servants live in Baskerville Hall. 
5	 What are you doing here? 	 e	 Yes. And that is Baskerville Hall. 
6	 Are you OK, Sir Henry? 	 f	 No, I have work, Doctor Mortimer. 

Look at the pictures. Look at the letters. Write the words.

1	            ( i l n c i r m a )

2	        ( e d d a )

3	         ( n o u d h )
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4	          ( t r e t e l )

5 	        ( r o m o )

/5
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